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B 3 I1G

T e TN AT 1A 5 Wyt 3w,
a4 (Momentum) (P)

TEE AN T T T OISR O FA. P o= my, S Giadere 2 S Al s
et anf wa oftEda Ssre B0 AR diren wimw 3 R 390 f amm. wame R S
frd atEA.

T, ‘m’ FENA O T S gEEen o' e o s e wfrem B R g W
W Ut S Yak S 4 Y R,

;. TEET gEEEE 97 = mu,
“t' FAH WA IR A 99 = my

.*.ﬁ&nﬂtaﬂmmm:ﬁa'““ig“m .

iy, I{_1:|11|.I'—1:|:|.u__mfi‘l.r—l.lj_

B t R

=g TS gEn P, FEn afedarn f v s aeEe st

S ma=F
5 F =k ma (k = fomms s w0 1 3me)

F=mxa

HET SWETTET ﬁl'zﬂl (Law of Conservation of Momentum) :

HAAl, A W T aFEH my EF T geEand @ ou, e, ﬂﬂﬂﬂmﬂﬁﬁaﬁmmg
¥E fn g 3w, AR, AW HEEEN, A T e @491 = mguy § B S5
FEETA FA = mgug. SUEET A7 S S UHHEETE SEsdE e A TR B IS Fy 99
T A A T =wlh B 8 fE oy g

", A TEIE STHEEEE] 59 = myvy v

wﬂﬂﬁﬂﬁmmﬂ A TR THIE B o @ W0H a9 fAee R Tgw
e B a9 Ham 95a gl 5eal e 90 v 9 B aw AT §6 = mavg W
B T 9 F, 9¢ 995 0 5E W, ;

Fa==Fy
S Mighy = —Myd] ... .~ F =ma
mzxwu_mixfﬂ;ﬂ“l {"i"—l_'li
t

< MglVg —Ug) = —mylvy —uy)
S MgV = Mollp = =MV + Mjuy

S MgV + MV = mjuy + Mgly
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o my FegErEh el m, ST dehiE et 9w, e v AT 4@ e f
mm,flﬁﬁ.ﬁﬂwﬁmmﬂﬁﬁ!mgﬁméﬁﬂ@maw?ﬁ:
ETﬁi’nmﬁqmw‘nﬁw (Recoil) ¥avard, g% SR 79 (vy) smen S
mivl+m21.'ﬂ-=ﬂ'.

Read the following passage and answer the questions 1 to 5.

Momentum (P)
Momentum is tlhe product of mass and velocity of an object. P = mv. The rate of
nhangetuf mum:entu_m 18 proportional to the applied force and the change of momentum
occure in the direction of the force, Momentum has magnitude as well ag direction, Its

direction is the same as that of velocity.
. Elu;:pun-e .u l.::bjact of mass ‘m’ has an initial velocity ‘u’. When a force T is
applied in the direction of its velocity for time “t*, its velocity becomes %',
-~ the initial momentum of the object = mu
Its final momentum after time, 1" is my

~ Rate of change of Momentum = Change in momentum
Time

. Rate of change of Momentym = ™V —mu = m(v —u) =

- t t
According to Newton's second law of motion

proportional to the applied foree, -
- ma = F
# F =k ma (k = constant of proportiona
F=m=xa

Ima

the rate of change of momentum is

ity and its value is 1)
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Law of Conservation of Momentum :
Suppose an ohject A has mass my and its initial velocity is u;. An object B has
mass my and initial velocity ug. According to the formula for momentum, the initial

momentum of A is myuy and that of B is maug. Suppose these two objects collide. Let
the force on A due to B be Fy. This force will cause acceleration in A and its velocity

will become v,.

.. Momentum of A after collision = myvy

According to Newton's third law of motion, A also exerts an equal force on B, I:rut
in the opposite direction. This will cause a change in the momentum of B. If its velocity
after collision is vy, the momentum of B after collision = mgvy. If Fp is the force that
acts on object B,

F-EE-‘F].
;. Mgy = — My8] ... a5, F = ma

fvg —ug) vy —uy) (v =~u)
nmgx —2 L =—my e~ i =

< mglvy —ug) = —mylvy —1y)
S, MgVg = Mglly = = My V) + Myl
<. MgVp + my¥y = myu; + Mollg
The magnitude of total final momentum = The magnitude of total initial momentum

Thus, if no external force is acting on two objects, then their total initial
momentum is equal to their total final momentum, This statement is true for any
number of objects, “When no external force acts on two interacting objects, their total
momentum remains constant, This is a corollary to Newton's third law of motion. The
momentum is unchanged after the cellision. The momentum gets redistributed
between the colliding ohjects. “The momentum of one of the objects decreases while
that of the other increases.” Thus, we can also state this corollary as follows. “When
two objects collide, the total momentum before collision is equal to the total momentum
after collision.” In order to understand this principle, let us consider the example of &
bullet fired from a gun. '

When a bullet of mass m, is fired from a gun of mass mj, its velocity becomes vy,
and its momentum becomes myv,. Before firing the bullet, both the gun and the bullet
are at rest and hence the total initial momentum is zero. According to the above law,
the total final momentum also has to be zero. Thus, the forward moving bullet causes
the gun to move backward after firing. This backward motion of the gun is called its
recoil. The velocity of recoil, vy, is such that,

myv) + mMg¥a = 0,
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L. S SR T SEE 200 gm 3P 300 gm R § wEe e 3 verm B9 8 mls s
4 mis IR AW kA, Wi Tww B0 9 TR AR IR 9 5 mis 3T TRER B,

TER WA G SR A e
(1) 06 m/s (2) 60 m/s
(3) 6ms (4) =l vwmd amh

Two objeets having masses 200 gm and 300 gm, are moving along the same line in
the same direction with velocities 8 m/s and 4 m/s, respectively. After the collision of

the two objects, the first object moves with a velocity of 5 m/s. After collision, the
velocity of the other object is :

(1) 06 mls ' (2) 60 m/s
(3] 6mfs (4) None of the above

2. SF TR TR G R S ST W A ae e T, W i a5,
(1) == goardren St e 9w
(2) = A
(3) =
) = Fa )

The two objects are interacting without external force, their total momentn
(1) depends on the initial velocities of the objects '
(2) does not change

(3) increases

(4) decreases

3. U AR TEEE 6 kg W iy T gnemnat 9ok 170 emds SR wfadfia B9, m

g Jan Fe ;
(1) 102kgmfs (2) 102kgm's
(3) 1020 kg m/s . (4) 102 kgm/s

The mass of a gun is 6 kg and it recoils with a speed 170 em/s; What is the
momentum of the gun 7

(1) 10-2 kg m/s (2) 1:02kgm's
(3) 1020 kgmis (4) 102 kgm/s
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4, 9 FE, A W B I TEEE A9 m, W mg 3R, SET=w THifEws feen
framaR, A 99 B SR S 99 9T w9 b,
(1) =em anft feg fEs ama
(2) amwE T we REE e
(3) HOE i wwr S e
(4) A st foeg fGEm amm
Two objects, A and B have masses my and mg,. respectively. According to Newton's
third law of motion, the force exerted by A on B is:
(1) equal and in opposite direction
(2) different and in the same direction
{3} equal and in the same direction

(4) different and in opposite direction

5. mm gitared=rar 2,
(1) S ST ST S
(2) YT S STENHTO S
(3) SR T S T
(4) ArEERT TR TR
The rate of change of momentum 15 :
(1} directly proportional to the applied force
(2) inversely proportional to the applied force
(3) does not depend on the applied force

(4) None of the above
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WTeATe! IART AT 6 7 10 Wg=edt 3w o,

@i g

FEHAT T TS SR Wi 9N S e gEe 9, e Ay e
UEHE Y] FEAE F WEF, WL A FEE T daw, R FefEia e J W wE
Ffdwn wnd anfn fafire qewha wEfem wad wfes g7 ot e Fr T, @ i
T @A aree anfer w G Ui WU, UERE U SEETEs qMe #E, W shEEm
FAEH1 39S ArErEsw o %5 T A A AT 9eE §a STl IR Wee] T AT

ATia, HiEA, B, AL, SIS, Sieaan, SefEe, Se, e i @i @ =
TIHEAE WETE W SiSEs A O . F Uk qei A WHOE S S o
Twigeliies wurard STl =4 Uemid] W FHl TR S wiA TAmeRos RV, g e,
Hiege weat fea gasies o1 59 9wy T g S 92F e A I,

Trerdty favem g9 TENe Ed. 3 TEA st TE fawemm. s e gaerdt diEen
IE T wEW, FEA, TEEE S sifeEaT § dead Ses Aen. AEged @ 9 dE,
AT, T, WL, wrdd, e, [ w6 e dae T .
wiew @ Ao AU, SIERTEIIEH 31 HEeTE] Wk . W STErrl S S
ST YO STEEEE . FAM 3 ST dviten AW A smevE e amEm wme

3 wome) Ay S U e gew TR W e 1 S TR g
fafaaiael w9 A e g, 3§ aehhe S U 9O R, THEEiee anfhn wmidi
HraA WP A, T ST Y SIS on WEeTe! F F. SHE S S
yfy weeaTdl S, HIG ARGEETE W Az g, 8 W0 fm T safn o g
sigt am v Frdia SR, AT waey gy fdE TReETE IR, :

e HHIATE! TP | SPACE FOR ROUGH WORK

http://www.adda247.com/mr | Adda247'FR'IB°prp | https://tme/Adda247Marathi


Dell
Line

https://adda247.app.link/RMd11zyyUpb

B 9 I15
Read the following passage and answer the questions 6 to 10.
Mineral Nutrition

Mineral nutrition is of unique importance in the biosphere az well as in the
affairs of man. All organisms consist of atoms of chemical elements which remain
preserved in the rock, the oceans and the atmosphere. Only the green plants and
certain microorganisms can primarily extract simple inorganic compounds and ions
from the environment without being dependent on other living organisms. These
inorganic requirements are minerals and are called mineral nutrients. An element is
considered as essential, if without it the plant cannot complete its life cycle and no
element can be replaced by any other element.

The elements known to be essential for higher plants are oxygen, carbon,
hydrogen, nitrogen, potassium, calcium, magnesium, iron, boron and chlorine. The
elements which are required comparatively in greater amounts are termed as
macroelements and the elements which are of very small requirements are termed as
micronutrients., The mineral elements may be detected by plant analysis, solution
culture or hydroponics and solid-medium culture.

Plant analysis is of two types, wet digestion and ash analysis. The essential
elements perform many functions in plant life. Carbon, hydrogen and oxygen are the
framework elements. Nitrogen is a constituent of many important biomolecules like
protein, DNA, RNA, Chlorophyll, NAD*, NADP®, FAD, ete. Phosphorus is an important
constituent of nueleic acid, phospholipids, ete. Potassium is required in high amounts
by plants for normal growth as it provides the necessary ionic environment for the
proteins inside the plant cell. Calcium functions both as a structural component and as

a cofactor for many cnZymes. :

Magnesium, like calcium, also serves as a structural component and is evolved
as a cofactor in many enzymatic transfer reactions. It is a component of the chlorophyll
structure. It is required to maintain the structural integrity of ribosomes and
chromatin fibres.

Being a constituent of certain amino acids like eystein, cystein and methionine,
sulphur participates in protein structure, Iron performs a number of important
functione in the overall plant metabolism. Manganese plays an important role in
photosynthesis, Boron is essential for sugar transport. It is also concerned with the cell
wall metabolism and pollen grain germination. Molybdenum is important in nitrogen
metabolism. :

wFeen Frarardl @ [ SPACE FOR ROUGH WORK P.T.O.
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6. VmiEies wE wE 7
(1) = 92 %=} wums s

(2) o T TN W S
(3) ¥ % e TET ST

(4) afEi FowEE A

What are macroelements ?

(1}  Elements required in small amounts
(2) Elements required in equal amounts
(3) Elements required in large amounts
(4) None of the above

T. S WA S S S W S S e 7

(a) oEfmEm (b) =nia

(e} =il (d) wHfEm

afiertel B frr/fr e s 2

aaidt I9 ;

(1) % (a) . (2) W (a) 2 (b)
(3) % (c) (4) " (d)

Which element is required in higher amounts for normal plant growth 7
(a) Potassium (b} Boron

{e) Chlorine (d) Magnesium
Which of the statements given above js/are correct ?

Answer Options : :
(1}  Only (a) ; (2) Only (a) and (b)
(3) Onlyc) (4} Only (d)

B.  SAPYAIS] SIS Ak g wnt e 2

(1) “mgrm, Fafmm, dwm (2) +HfeirEm, TEEE, 9w

(3) ool wr, T (4) A, BEAEREH, SR
Which are the framework elements in plant life 7

(1) Nitrogen, Magnesium, Boron (2) Caleium, Nitrogen, Potassium
(3) Magnesium, Iron, Chlorine (4) Carbon, Hydrogen, Oxygen
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B
T T WA AEaehr I R O ) ?
(a) Hicmm ' (by =
(c) aNA (d) Wefimm
wltetd wvm e st s/smea 7
wratdt I
(1) % (a) (2) A (a) 3 (b)
(3) W (c) (4) e (&) A0 (d)
In plants which element is essential for sugar transport 7
{a) Calcium (b) Irom
{c) Boron (d}) Magnesium
Which of the statements given above isfare correct 7
Answer Options :
(1) Only (a) {2) Only (a) and (b)
(3) Only (c) _ {4) Only (c} and (d)
10,  WEfEER W] BOA-T AEcATe G2 R
(a) wERMHE
(b) AR BT
(e) W Gy
(d) WTE A i
it Fow fauryfem st s/ 7
i T ;
(1) %= (a) v (2) ()
(3) w4 (b) 31 (e) (4) % (e) 3nfin (d)
Magnesium is essential for which structure ?
{a) Chlorophyll
(b) Nitrogen metabolism
(¢) Photosynthesis
{d) Sugar transport
Which of the statements given above is/are correct 7
Answer Options :
{1} Only (a) (2)  Only (b}
(3) Only(b)and (¢} - {4} Only (¢) and (d)
T WS W | SPACE FOR ROUGH WORK - : 'P.T.O.
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WIS TAT0 aEE 11 8§ 16 Wy 3w o,

qUFmee (235) WAENFEE Hg Rl AR e T S e fee e ol W
ﬁlmmmﬁm@mﬁmﬁmmmmﬁaﬁmﬁrmﬁmmmﬁmw
"oU + on = 20U — "10Ba + Ngr 4 2 on.

T G f o dfren i al Rrae fen ok, snpen fades fet diesmroms et
vEd. fEzR Fmin fondt w9 sem e s swn. fadzara 99 ee @ oes T
T T uwhE TegEE @ Al st w0 s, § awEe 19, e ahed,
TiEn=n @z s o2 amu. 5T aEa, o 186 foefra o ez (MeV) S0t w1
gifawen sen fadsaEE v 43 « 109 frelt el om e (235 ) gifEmen swen

T € W wn 9w swa. v ofiedn e Yen oer sETe dresn wiEm aEe. ST
s guifen Y0U e fawe fen e, SR wwon 9. 6§ fres G
%ﬁﬂmﬁﬁﬁam.ﬁmﬂéﬁmﬂaﬂmmﬁwﬁhﬁ%mﬁmﬁmmm

U+ o0 o U gqRb + 1t4Cq +2 0n,

i U g A i G iy s e d9 soEad g i dew. s
e i 9Tt =g B 9w 200U dgeme st 9 T s s ged Rz
o s ggiaa e g5 AR m gd gmen NG G §9A WEE 391 0w an. uw
Eguﬁmmﬁammﬁﬁhmﬁﬂﬁmmﬁ@ﬁm“ﬁ“wﬂ
TN S S e el A 2ooU i W SEEe T s, G
T ¥ s T 3 R B TAE s -

e Al ST 3 g o, e O e e oW e T
Y VAR AR TR SRR ST s SN R TR REEINO THRA VO U S
A U] FE S T e I, dew g@en afulie wwy gida it wew i

N M ¥ e fadens me A s SO FE R 9@, o mu wga
feea sifufen fdfam ama e m@qﬁgﬁmﬁQﬁMHmeﬁ{aﬂ#
mmﬁmﬁm}ﬂmmmm.m@w%m*mmm
mmﬁ.mﬁﬁﬁ&mmmmﬂﬁﬁﬂﬁﬁﬂﬂﬂﬂmﬁ~
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B 13
Read the following passage and answer the questions 11 to 15.

When uranium isotope-235 is bombarded with slow neutrons, 2gﬂzUm formed by
eapturing a neutron. The EggU being unstable, breaks into two fragments besides
releasing two or more neutrons 239521_1 +n o E;glj - lggﬁa 5 g;]{r +2 ::-I i

0

The above is a typical fission reaction. During a nuclear fission, a large amount
of energy is released due to mass defect, i.e., the sum of masses of the two fragments
and the neutrons set free, is less than the sum of the (given) masses of the reactants.
This mass defect, for a particular amount, in uranium fission is of the order of
0-2 a.m.u. which corresponds to the production of 186 million electron volts (MeV) per
uranium atom fissioning or about 4-3 x 10? k cal per mole (235 g) of uranium atoms
fissioning.

The fiesion process is complicated. Over thirty pairs are known. Let us now
consider the most famous nuclear fission, that of ii;U brought about by neutron
capture. Although this fission process occurs in a large number of ways, in each ease a
large amount of energy is released and more than one secondary neutron emitted.

Ef;ZLT & ;n — EEU — ggﬁh + 1:;(}-5 +2 :;n.

Two neutrons are emitted for every neutron that initiates the fission process.
The neutron emitted during fission may be further absorbed by other “3°U nuclei thus
causing further fission and emission of more neutrons. In this way, a chain reaction
starts releasing tremendous amounts of energy. However, if the amount of 2‘32[_}’ is
small, most of the neutrons will escape from the surface and the reactions will stop.
Therefore, a critical mass of metallic uranium is necessary in order to start and sustain
a chain reaction. The critical mass of EE;EU has been found to be between one to

hundred kg.

The basic principle of atomie bomb is the chain reaction. At the time of
explosion, the two radicactive samples of each suberitical mass, but whose total mass
exceeds the critical mass, are brought together by the use of ordinary explosives. Once
thege subcritical masses come together, a chain reaction starts releasing a large
amount of energy.

The principle underlying such nuclear fission has also been employed in
harnessing vast amounts of energy in nuclear reactors. In these reactors, the fiszsion
reaction is made to occur at controlled rate. Essentially, a reactor consists of lumps of

ﬂg;U separated from each other by blocks of graphite or heav

v water (neutron
moderators) which by slowing the neutrons, help in controlling the chain reaction. The
large amount of heat which is released during the reaction is converted into electrical

energy.
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11, fawes yhiwe) fwfo gor=n 39 S0 WS Fo /i sEw s 2
(a) ifufF s FEgaH

(b) TEEM FEEA
(c) Tifmamrms anfer IemRE TEEA

(d) Tawse= T iy aEEE

it I : _
(1) wa (a) 3 (c) (2) % (b) _
(3) e (d) (4) T (a) i (d)

In fission processes, the amount of energy released depends on which of the following
factor/s ?

{a) 'The massofthe reactant

{(b) The mass of the product

{¢) 'The mass of the reactant and product
{d) The loss in mass during fission

Answer Options :
(1) Only(a)and (c) {(2) Only(b)
(3) Only(d) (4) Only(a)and(d)

12, =gl vEwCh Fan (95 we) & e w6 2
(a) —geeity W O3 v
(b) =gt 39 aw v .
(c) Wﬂfﬂﬂﬁmﬂqﬁmrmﬁmﬁwwﬁw

it T ;
(1) & (b) (2) w (¢}
(3) %94 (a) 4) (a), (b) =T ()

In nuclear reactors, why is moderator (heavy water) used ?
(a) To cool the nuelpar reactar
(b) To enhance the engrgy of noutrons

() To reduce the energy gnq ence the speed of neutron so that it slows down and
gets captured
Answer Options .

{1) Only(h)
{3y Omnly(a)

S
QPP SIS m:EPM:EFﬂHEDUEHWﬂHH

(2) Only (c)
(4) (a), (b) and () . _
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13.  awite afewlEa sl of o

235 1 x ¥ 1
T+ n - +
a2 o HE& SESr + d o

(a) x=141,y=91 - (b) x=139,y=93
() x=141,y=93 (d) x=139,y=95
Tt TN

(1) & (b) 301 (d) (2) A (a) 30l ()
(3) A (a) 300 (b) (4) Fa (c) 30 (d)
Complete the following hypothetical reaction :

“;iu + ;n - ﬁ:}:e + ST +4 :]n

(a) x=141,y=91 (b} x=139,y=93
c) x=141,y=93 (d) x=139,y=95
Answer Options :

(1) Only (b) and (d) (2) Only (a) and (c)

{3) Only{a) and (b) (4) Only (c) and (d)

14.  ven AfifeEE e g e dmm T 080 w5 e oy 7
(a} FordeA Eom=n werten qewrmEs =g e S
(h) ForEea Som=n werien qeMTTEE =g SETe R e e
(c) i TwEs WiEA fuen AfufEma g% ge e wamad
(d) Tz dvr=n seraien gevrmess =g wEfis g

ot 39
(1) %4 (d) (2) = (a) 3 (b)
(3) FEA () T (d) 4) (o)

For the chain reaction, why iz it necessary to have eritical mass ?
(a} For neutrons to escape from the surface of the fission material
(b} For neutrons to scatter from the surface of the fission material
(e} Tocapture neutrons to start and sustain the fission reaction

(d) For neutrons to reflect from the surface of the fission material
Answer Options :

(1) Only (d) (2) Only (a) and (b)
(3) Only (c) and {d) (4) Only (c)
e HIETHTE AT | SPACE FOR ROUGH WORK P.T.0.
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16.  fediem s frdes em, 10004, MU o RreE g g vl wm ada,

(a)  4-3 x 109 Freit vl

(b} 186 faferm wogia =i (MeV)

(e) 2% 107 firalt werdt

(d) * 1-83 x 1010 fire it

it ;

(1) % (d)

(2} e (g)

(3) w4 (a) anfin (b)

(4) % (b) 2nfen (d)

23 P
From 1000 g of E:U' by the given nuclear fission process, the amount of energy
released is

(a) 4:3%10"k cal

(b) 186 million electron volts (MeV)
(¢) 2x107k cal

(d) 1-83 x 10" k cal

Answer Options :

(1) Onlyid)

(2) Only(¢)

(3) Only (a) and (b)

(4)  Only (b) and (d)

el HTHWIE 90T | SPACE FOR ROUGH WORK
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TS SAT AT 16§ 20 Wy 39 A,
i T W S we et aw, e Rl et g WA s e
mmﬁmmmﬁm,mmﬂﬁﬁmmm@m

mﬁmﬁﬂﬁﬁmﬂgﬁiﬁﬁﬂqﬁaﬁmﬂ.mmﬂw
mmﬁﬁﬁnﬁ.ﬁaﬁmmmmmﬁﬁﬂmjﬂa.m,mﬁwm
= Foram sy AiETE WeE SET i S, i
ﬁmﬁwﬁmmﬁ.wﬁﬁmﬂwvmﬁﬁmwmt e, odiTES WA SEEaarE
mm.mﬁﬁrﬁﬂﬁmaﬁmmmﬁmﬁawmmﬁmmﬂ.
Wﬁmaﬁqﬁmﬁwﬂmﬂ%mﬁﬂmﬁ:nﬂﬂaﬁmmﬁrmﬁmm
Wmﬁmwm,mﬁm,mmmm
mﬁﬁﬂmﬂﬂ,mﬁmﬂmiﬁﬁmm,wﬁmmﬂﬂ,mﬂm
mmmﬁﬁﬂﬁ.mﬁmm:emmm.ﬂﬁmw
AL
mmammwmﬂ.ﬁmmmm.m
mmwmmmﬁmm.tﬂ,mﬁmmm
T g & grafavar HEn . '
Read the following passage and answer the questions 16 to Z0.

Money Bills eriginate only in the Lok Sabha. If a dispute arises as to whether a
Bill iz a Money Bill or not, the decision of the Speaker of the Lok Sabha is ﬁnalrlThE
Rajya Sabha has no power to reject a Money Bill. It can only make recn::_::m&n:latuf:nsr
i.e., suggestions, The Lok Sabha may accept or rejeet all or any of the recommendations
of the Rajya Sabha,

Ordinary Bills can originate in either House, In case of disagreement between
the two Houses, the Bill is referred to a jeoint sitting of both of the Houses. It seems fhﬂt
the two Houses have been placed on an equal footing in this regard. Really EF“ﬂl'me’s
the Rajya Sabha is in a weaker pogition in the matter. Since the total rnembersh}]! of
the Rajya Sabha is less than even half of the total strength of the Lok Sabha, the ‘f‘"—“ '_Jf
the Lok Sabha would naturally prevail at a joint sitting. Moreover, & joint session 13
presided over by the Speaker of the Lok Sabha,

e FTHTETEE AT | SPACE FOR ROUGH WORK F.T.D..
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Members of both the Houses can put questions to ministers about the work of
their departments. They discuss all matters of public importance. But here again, the
Lok Sabha has more power than the Rajya Sabha. The Council of Ministers is
responsible only to the Lok Sabha. The Rajya Sabha has no power to pass a motion
expressing Neo-Confidence in the Council of Ministers,

The Constitution puts the Rajya Sabha on an equal footing with the Lok Sabha
in these matters : the election and impeachment of the President, removal of the
Judges of the Supreme Court and the High Courts, Proclamation of Emergency,
Promulgation of Ordinances and Constitutional Amendments.

The fact remains that the Rajya Sabha is not at par with the Lok Sabha, It does
not, however, mean that the Rajya Sabha has no important role to play in the
Governmental machinery. Neither House by itself constitutes the Parliament. It is the
two Houses together that are the Parliament in India. The Parliament can create new
All India Services only if the Rajya Sabha passes a resolution to this effect.

Moreover, the Rajyva Sabha is a ‘Continuing House', a Parliament chamber. It ig
not subject to dissolution like the Lok Sabha. Tt has to play a major role during the

periods when the Lok Sabha is dissolved. All this helps to show that the Rajya Sabha is
an influential and useful body.

16.  wEfaiE wuwe: v R AT FA.

(1) =rea (2) T=waM

(3) faum wiee (4) it vl T
Money Bill originates only in the y

(1) Lok Sabha (2} Rajya Sabha

(3) Vidhan Parishad (4) None of the above

17. mﬁﬁmmmﬂmgmﬁﬁ?
(1) T (2) SAwum
(3) v (4) R F
Who decides whether a Bil) is a Money Bill
(1) The President
(3) The Vice President

or not 7
(2)  The Prime Minister
(4) The Speaker of the Lok Sabha

Fee] HIMHIG! ST | SPACE FOR ROUGH WORR
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e s weuen e o oiEe .

(1) T=TE9I (2) wwE

(3) TEEA WIHE TR (4) =iy AT

Ordinary Billz can originate only in .

{1} The Rajya Sabha (2) 'The Lok Sabha

(3) Any House of the Parliament (4} None of the above

19.

mﬁﬁﬁﬁﬁlﬂi\mﬂmﬂwmiﬁﬂ%mmﬁ?
(1) TeEiE T R HE WA HH 3

- (2) HgE AT o T S WA S

(3) WHHES & TOd AlEEYEE SaEeR S8

(4) eSS vwe A

Which of the following is nof a reason of weaker position of the-Rajya Sabha 7
(1) The total membership of the Rajya Sabha is less than the Lok Sabha

(2) Joint session is presided by the Speaker of the Lpl[ Sabha

(3) The Council of Ministers is responsible only to the Lok Sabha

i4) None of the above

ittt T A e S wiat 7 2

(1) rgydrE FEsyE ;

(9) wETE ETEETE SAITTAT FEE gl

(3)  syoframfi Srom

(4) i) gEHE T |

In which of the following cases is the Rajya Sabha not equal to the Lok Sabha ?
(1) The election of the President |

(2) Removal of the Judges of t1'i:u:- Supreme Court

{3) Proclamation of Emergency

(4] None of the above
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TITHIT TAT W= 21 F 26 Wyt 39 =,

Eaumﬁﬂgﬁahﬁmqmﬁﬁﬁmﬁwﬁmﬁwm HIE.
A T T v e ol varen faeys afenan fag S99 9. T
e s i fraen B oae sweem ael, s st TwE mEE TEe
T W fifi qren S e, sEwond, 1863w il s e
ﬁﬁ@mﬂﬁdﬁaﬁm;ﬂﬂﬂqaﬁ-ﬁ.#ﬂ,h,ﬁmmﬁﬁgﬁmﬁ&mﬁmﬁmmm
TE T4, ST RN 1868 WierwA g qeriig S S, |

Imﬁﬁﬁﬁmﬁmgmmmmm. 1865 — 1876 o1 wicra@sm i
Wﬂmm;ﬁa@mﬂﬁagﬁmmmﬁqﬁmﬂﬁﬁmm
W gF F1. Tt s sfifas, 13?5‘%%%“%%%%
ﬁrﬁmﬁ.ﬂ.%w%ﬁﬁ,mﬁﬂ%mwm@wﬁmmﬁmm

ST WA St i TaEEr s 1890 w1 e T .
mqmqﬁﬁwmmﬁqﬁmmmmmm
mﬁnﬁmﬁhﬁmwmmm.mmﬁﬁaﬁamw
mmmmﬁ,@wwiﬂﬁmﬁmmamﬁm
Wﬁmmﬁﬁw:ﬁmm,mﬁﬁﬁmmmmm.ﬁﬂﬁw
amﬁwhﬁmm%mﬁhﬁam:mﬂﬁ
ETHOT SRS I G, T W R wE sy

‘ Wﬂaﬁawmrﬁmmmﬁamﬂmmmﬁmm
mm.wmi.ﬁ.ﬁﬂsmﬂﬁmﬂh@mmm.gﬁaﬁﬁmm
e, Ui snfn feEEr g e,
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Read the following passage and answer the questions 21 to 25.

In the election of 1860, the Republican candidate Abraham Linecoln was elected
as the President. The Republican Manifesto had included a promise of political freedom
to the Blacks. Steps were taken to fulfil the pledge taken during the Civil War, and a
number of Constitutional Amendments were done so as to give more political freedom
to the Blacks. For example, the Thirteenth Amendment passed in 1863 by the
Republican government was about the Abolition of Slavery. The Fourteenth
Amendment of 1868 ordered that the right to vote should not be denied to anybody on
the eriteria of race, colour or a history of glavery.

These three Constitutional Amendments set a powerful precedent. The political
diplomats who had vowed to reconstruct the Southern States during 18656 — 1876,
began to strive towards securing the complete citizenship rights for the Blacks. The
Civil Rights Act of 1875 opened a number of fields for them where they would not be
discriminated against. The success, however, was limited; because towards the end of
the period of Reconstruction, the erstwhile slaves had fallen into the grave situation of
economic slavery. The Supreme Court in 1883 declared that the Civil Right= conferred
upon the Blacks were unconstitutional.

Their voting rights were snatched away during the decade of 1890°s using the
trap of literacy tests. Other provisions of the Act that aimed at fighting the racial
discrimination were not implemented properly. Consequently, processes of segregation
and discrimination became deeply entrenched in most of the institutions in the United
States. Jim Crow Laws and other such traditions supported segregation and
diserimination against the Blacks in all walks of their life. The Supreme Court
validated segregation in a number of related cases. This meant that it became legally
very easy to entrench prohibition, segregation and denial of voting rights by the
implementation of the Mississippi Flan and the Negros lost their voting rights. The
Government Act which took away their voting rights and legalized segregation was
declared to be constitutional and legal by the Supreme Court. This put the Blacks in an
ironical situation. Technically, they were declared to be of the same status as others,

but they were compelled to stay separately.

Booker T. Washington wanted to solve the problems of the Blacks by peaceful
negotiations and self-support initiatives. However, W.E.B. Du Bois could not agree
with Waghington. Du Bois gave a radical, nationalist and separatist stand to the Black
Movement. ;
e WA SN [ SPACE FOR ROUGH WORK - P.T.O.
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21, e faae 9,
(a) %mﬂmmﬁﬂm%ﬂﬂﬁmmﬁwﬁmqm 1860 wefie smiemm ufirg
(b) T TR TEmil T ) v w,

(e) RWWWMMWWW 1883 =il

aaidt 391 ;

(1) (b) & T (o) =7 ofomm s,

(2) (a) % fagm (b) =1 sfomg am,

(3) (¢) % faum (a) 3 T am,

4) (a), m}mﬁrccywqﬁmﬁmm

Read the statements.

(a} The Republican Manifesto of 1860 had included a promizge of political freedom
to the Blacks,

(b) The Thirteenth Amendment provided for Abolition of Slavery.

(¢) The Supreme Court in 1883 declared that the Civil Rights conferred upon the
Blacks were unconstitutional.

Answer Options :

(1) (b)is the effect of (a).

(2) (al)is the effect of (b).

(3) (c)is the cause of (a),

{4} (a), (b) and (¢) are unrelated.

22, 1875 = Avdl sfuwn sifufemen witm o s, s
(1) gEiren e e Tt wet A
(2) &Tew SR TAEEE i e,
(3) Wﬁmﬁhﬁﬁnﬁwﬂﬂmﬂ?ﬁﬁmﬁlaﬁwﬁﬁnmﬂw AT B,
(4) =fe veardt gtem B we '
The Civil Rights Act of 1875 had limited success because
(1) there were many fields open for erstwhile slaves.
(2)  the Blacks did not have voting rights.
(3)  the slaves had become too poor to exercise their choice.
(4) Southern States were being reconstructed.
O] HTTHE! TP | SPACE FOR ROUGH WORK
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gy,  amfride agai deaind frfieem g Sewers vgt S weEri wen, Hee
(1) S AR e e el .
(@) T st sifemren modi sl St e .
(3) FI=N ST TaeETEn i fiem A
(4) afierth v A

Processes of seg‘regnl;iun and diserimination became deeply entrenched in most of the
institutions in the United States because

(1) slavery was abolished by the Thirteenth Amendment. _

(2) the provisions of the Civil Rights Act were not implemented properly.
(3) right to vote was conferred upon the Blacks.

(4) None of the above

94. A, Aifivea suftn wed. A, 3 g WA R e SEe e 7
(1) Erad smfee meras g,
(2) ol FeEdia SEaEn T B,
(9) <y SeEEe ST T T,
(4) ST A Tares i, w0 a9 ST S SEE e |
Which of the statements about Beooker T. Washington and W.E.B. Du Bois is
incorrect 7
(1) Both were American Presidents.
(2) Both were active in the Black Movement.
(3) Both did not agree on the way in which the movement should be carried out.

{4) Washington was a moderate, while Du Bois followed radical policies.

85, mey Taum e
(1) ﬁwmmwwmm

(2) ﬁﬁﬁﬁmﬁﬁémﬂmﬁmﬁrﬁﬁﬁﬁ
(3) TR S HeAr s e e .
(4) Wwﬁmﬁmmmﬁwﬁé

Identify the incorrect statement, B
(1) Blacks had to live a life of segregation due to the Mississippi Plan.

(2)  Voting rights of Blacks were denied due to the Mississippi Plan.’ :
(3) Literacy laws were responsible for snatching away the x:uting rights of the

Blacks.
(4} The Supreme Court always provided Civil Rights to the Blacks.
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WTETE FaT argA 26 & 30 Wyt 3wt o,

e = anfor =0 Fen wramm TEw

e Pl w1 T Saa e AT AR S e e st . o S i e
FEHE AT W TR AT Ageie g ST AR, g Uw et S,
e, FrEnEH AT ST S ST SR e, e B f S we e aute sy ge,
T s T AT aee e sl g . Y Remeder ve e foem e
IS W R T R 6. vE FE o sesn e weEnn T ane o e g

e UE S AWE Teeie S e TEd we teet femt Rl #9 s
Wil WHia . Fiendt Tee w Feins teem femyde gEean oee T=a it gt e
e Fil (SelaeTem gRaris Tl ge). v FErEn ginen veens fenrdete te amde
R @@ 3 39 I, A S e 7 e 6 B, e e e ot o T
T HET YOS SR A WE T2 W NS o, TH I ofiy fafrenas =
T wECE A 1997 = 98 W wE firen diF TS FEEEn e e A,

@ T S TS A4S S S A W O e g ek, s
s1fe ATt FayEgE W A SR, S A AR e s i i 3
areaaT. W gy srifren i femar aom el 8 snfn weie wemvmEn gfiy g @
aTed, TS wa1 o WA g o geen wew vea. g snfiee st o o
foem e e enfor 7 Wi O TR AR TS O S S s s B, e e
v e el aion st ST, e e i SR afim TR e 8 e we
mm@mﬁmm.mwmmwﬁmwﬁm
s e Hafee sieh e Fl 6,
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Read the following passage and answer the questions 26 to 30
El Nino and La Nina Ocean Currents

El Nine is & warm ocean current which occurs irregularly in the Pacific Ocean.
The invention of El Nino is useful for the prediction of global change in annual climate
and monszoon rainfall. But the generation, extension, period of El Nino is not yet
predicted accurately. El Nino is a cyclie incidence which happens at the interval of a few
years. The temperature of the Peruvian coast does not fall considerably because of this
current. El Nino is considered as Christ’s child on the Peruvian coast because it arrives
after Christmas. El Nino is a warm water ocean current which creates tropical type of
geean climate along the Peruvian coast which gives good rainfall to the desert area.

The strong El Nino brings heavy rainfall exceeding normal rainfall resulting in
lush greenery in the otherwise dry coastal land of Peru. Sometimes the strong El Nino
causes heavy rainfall along the Peruvian coast and destroys the marine life (death of
fiches due to loss of plankton). The good rainfall from El Nino makes the coastal
Peruvian desert green and there is rich harvest of eotton, coconut and bananas. The
strong El Nino gives four to gix times more rainfall than the normal amount to the
tropical eastern Pacific area but dry conditions prevail in the tropical western Pacific
resulting in severe drought in Indonesia, Bangladesh, India, ete. The widespread fire in
the forests of Indenesia in 1997 — 98 was related to drought resulting from a strong

El Nino event.

La Nina is a cold ocean current that flows in the Pacific Ocean which is the
opposite of El Nino. Due to La Nina the temperature is reduced in equatorial areas of
the Pacific Ocean. When it is generated the trade winds increase their speed. It reduces
temperature of the west coast of South America and increases it in the western part of
the Pacific Ocean. It decreases the air pressure and causes heavy rainfall. La Nina is
responeible for additional rainfall in south eastern Asia and the desert in Peru of east
Pacific becomes drier. The La Nina is considered as the younger gister of El Nino.
When La Nina becomes effective in the tropical western Pacific, then El Nino becomes
ineffective in the tropical enstern Pacific. The dry condition in the western Pacific is
terminated and wet condition is introduced in the tropical western Pacific by La Nina.

T yaTard) G | SPACE FOR ROUGH WORK P.T.O.
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26, UR FATgS v R e Teen g 7
(a) FEHfim
(b) %
(¢) SRS
(d) WA
waidt 3wt ;

(1) (al, (b) - (2) (b, (c)

(3) (al, (b}, {c) (4) (a), (e), (d)
In which countries did severe drought occur due to El Nino ?
{a) Indonesia

(b} Peru

(e} Bangladesh

(d) India

Answer Options :

(1) (a), (b) (2)  (b), (e)

{3) (a), (b), {c) (4) {(a), (), (d)

27. Feem sm=raen s wn B wgm S e fred o
(a) ¥ 9% FFH WEE TR,
(b) v Ferem fmg o
(e) = B & v e o wd gl
(d) =0 P e s AR s &0 g,

gt I :
(1) & (a) anfer (b) (2) % (c)
(4) = (a), (b) =09 (c) (4)  (a), (b), (c) 2T (d)

What information do we get about La Nina from the given paragraph ?
{(a) Itisa cold ocean current.

(b) It is opposite to El Nino,

(e} The La Nina is considered to be the yvounger sister of El Nino.

(d) After the occurrence of La Nina, trade winds increase their speed,

Answer Options ;
(1) Only (a) and (b) (2)  Only (¢)
(3} Only (a), (b) and (¢) ' (4) (a), (b), () and (d)
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og, ua B o faed e wEed 9 TR ) :
(1) @ fawmm A i (2 @ fwma s 36

(3) @ fiw Fmoft g A6 (4) @ IAER TaTE WA AT

El Nino is called Christ's child becaunse :

(1) it occurs after Christmas (2) it occurs before Christmas

(3) it occurs during crop harvest (4) it occurs along a warm current
29, WA fRT=TEr ®H sftEATan A o2 B

(1) W YaE (2) 9% YR

(3) wae U B (4)  wEes &

The marine life is destroyed on the Peruvian coast due to

(1) Warm ecurrent (2) Cold current

(3) Strong El Nino ' {4) Strong La Nina

80, TS fEaT 9E
(a) = TS =T T e ge FEeme fEwmm e
(¢) wA 1 wwim uEmrREE sl segn gl wEw .
it T
(1) o faue (a) 0=t T8
(2) faam (a) snfer (b) e R
(3) fam (b) M () =R EE
(4) v fEUA (o) W R

Observe the following statements : ‘
(a) The Peruvian coast becomes green due to good rainfall from La Nina.

(b) There is a rich harvest of cotton, coconut, banana in the Peruvian desert due to
good rainfall from La Nina!

{¢) El Nino is an irregular warm ocean current in the Pacific Oceial,
Answer Options

(1) Only statement (a) is correct

(2) Statements (a) and (b) are correct
(3) Statements (b) and (c) are correct
(4) Only statement (¢} is correct
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WTEATE AW AT 31 7 36 wyATet I |,
it 7 Tafis g

WEMT T Ry e, i e i e it wama e oftms del sels
HEIE B g AAUE T S A Wi, G960 s F S SETETE) e YENE SUd S,
FH T g, WO o e s S wEy qad i e e g et # fam
HEEE HEd, ST T w7 Be G @ YEE ST OiE 9 4FaEum oEal. i §
TTETAE] AT e Sekcdedl WHaEE T O afgen mifie s weieeda O
HEA.

s ¥ S AEEe Wi FgErea S T o wwaEd sgerd) it a. aw
AH, UR, P (AS we, e i, fn wn, §f w3, f g s gemees 1w
wEU) FAWA! WgEm W (Sgs anfn wew) anfn shedt (SR R e e wey
sea. Wiadt sifeararadt oot @ S Uk mewTe get aTEH. AT SqdwAaT SR et
Fffema s, Frw 3% 99FE . 9w ofd o ged i e sEiEerE e g e
QAT SHTE T FTTH YA Hie e, T Wearedan e g, et snfemmn, St
WA, EE EY A9 2 Al s 300 fvesa Tl @ v awerh a amh. miEmETen
sl B S, SeRRT, TEY weRpaieT 95 SHfavaEE TEEE CwE A W aven e, 8

whar fvariiem, TrHET @ dten seerEediE QU g S aREEEea g
e AR, SEWTE T2 g, Seede 9 ST T2 g, 9 e e o g wed
et 3 afviifies T e B @ w9 g aed tEel §moa Feien e gam
A SR, AT B HIE TR sfo Fafin eeers /e e, AT S Faeen 9
AR FEEE SEded SiwE g, g giens iEnl 9 weh SiE e qw @

yfgerin v fadr argaviia A A S — S IS A i e s e
T i qafete ST avan A, § gt e e ReilEn ween e
frqrmofey snfn 3 w7 s SRt fifine w20 odE SATETET FEEE A
fromaeh form ok 3 awhe Rewien whe iy o @ wER T W W S
Fararaie Fraseren snmages Jeved. wig @ offeud wam g, s T e i
SrReTenl ff W praTie WY BT T A, '
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Read the following passage and answer the questions 31 to 35.
Women and Natural Resources

Probably no other group is more affected by envirenmental destruction than
poor village women. Every dawn brings with it a long march in search of fuel, fodder
and water. It does not matter if the women are old, young or pregnant; crucial
household needs have to be met day after weary day. As ecological conditions worsen,
the long march becomes even longer and more tiresome. Caught between poverty and
environmental destruction, poor rural women in India could well be reaching the limits
of physieal endurance.

Biomass plays a crucial role in meeting daily survival needs in the vast majority
of the rural households in the country : food, fish, fuel (firewood, crop wastes and
cowdung, organic manure, green mulch and forest litter), building materials {timber
and thatch) and medicines (herbs), are all different forms of biomass. Water is another
crucial element in human survival and its availability is definitely related to biomass
in a country where rain falls only four months in the year. When the biomass in the
surrounding environment disappears, water sources like streams and ponds also tend
to disappear soon after the monscon. An important aspect of this biomass-based
subsistence economy is that it is monthly non-monetized. Water, fuel, fodder, building
materials and even food to a certain extent are all gathered freely from the immediate
environment. Production and processing of biomass agriculture, forestry and village
erafts based on biomass as raw materials are also the biggest sources of employment.

Unfortunately industrialization, urbanization and the advance of the cash
economy have greatly affected the country’s biomass base. The destruction of biomass
with deforestation and devegetation and its transformation away from rural and
household needs and towards urban and industrial needs (planting of teak or
encalyptus in place of sal or other natural vegetation, for instance) is having a major
impact on the lives of all those who live within, the non-monetized biomass-based
subsistence economy. Marginal cultures like that of tribals and nomads are the first to
face total social destruetion. But women, not only within these cultures but in all rural
cultures, face the maximum t.hﬂ-ﬂﬂt-.

The special difficulties that women face — their extraordinary work burden or
lack of nceess to health care, for instance, do not arise out of ecological deterioration per
ge. They are located in the sexual division of labour marked by a double work burden
(at home and outside) and by the specific nature of tasks they do, and in the unequal
distribution of resources like food within the household, which stems from wnme:n’s
inferior gtatus in the household and from a lack of control over cash and productive
resources like land, But given this situation; environmental destruction exacerbates
women's already acute problems in 8 way very different from men.
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30
81.  waiew fawdams s wofam gomn age w7
(1) it =ft 7y (2)  w=aw= &= age
(3)  Szarda nite = oy (4) =t witg =i T
Which group is more affected by environmental destruction ?
(1) Urban women group {2} Village women group
(3}  Village poor women group (4} Urban poor women group
32, R UEE SATHTE TEHTEEA] GETen WIHA 00 AEE 7
(1) aiifiefem (2) A
(3) ra snfifwm (4) =hath wd i
Which factor does not affect the country's biomass base 7
(1) Industrialization (2) Urbanization
(3) Cash Economy {4) 'MNone of the above
33. WA WRAH w6 GWITES A S S 7
(1) anfEawd = wewn s (2) wite wdn
(3) it = (4) ey Hegfa
Which type of people face social destruction 7
(1) Aboriginal and nomadic tribes {2) Poor women
(3) Iliterate groups {4) Rural culture
34, IS T e AR g s 6 L
(1) = wesTE gitewr S
(2) omwit & T gy R
(3) Fu7 wEraTHE Y =
(4) =TT T S SR A
Explain the role of biomass of the rural households in the country.
(1) Biomass plays a crucial rolé
(2) Water is one of the biomass
(3) Firewood plays an important role
{4) Biomass is not important in rural households
35. | # T faam .

(1) afrenfbesr @ Al
(2) frafe snfdwa o dm sesfa
(3) = st saed e
(4) ofeand @ we
and deatruct the biomass.
(1} Industrialization and urbanization
(2) Bubsistence economy and marginal eulture

(d) Deforestation and devegetation
(4) Tribals and nomads
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ﬂmﬁﬁmmﬂ:r_ a6 ¥ 40 wyr=ft I =,
Tateraae wiwo S i

FHTETHT HE Ticidiaw i FeeEeRE W e 1991 T e Wieted] QR ae
TEUATE o, SR EuTE SETe RraHTH e valaegsa a snfdwmgwm wdte waln W dwe
frafn s amR. Al Sl g @ geme: vaiEems w6 anfh swefaum g fwan

de farn, WAl STEElE g%e, WUET GEE YgE M sdeETeiee g
1. STETEe 9giEwiE SR gei Aofite sderar,

2, IS SRR IO g ST et Sefia A,
g. afeifies snfer sarawlias qol s STedr sndegeT. |
il defn Yafe e @ snewds gaeEen e e ST SEEge
ST e R i o ST, S e T g s, s w6
St syderawen o2, i SETE daEmEE w8 e (), ', v, e, e, @, 50 f
SRS mmmmwmmﬁ-mm@m
5% Siaw gew & fatay IEE =T qRetdA B STEAT. IE. T S, B, S
e, U S, 3. TGS TE A W A I B WA A o s
et srdeTEE A1 A TEIEAH (Sfrda) ufEen amhe. @i S St
mm,mmﬂmmﬂmmwmﬁﬁwmﬁm
mmmmwmmm&mﬁm.mw

: - "o " "
. 7 mﬂ,ﬂﬂﬁhmmmmmaﬂn@mﬁm
£ T m,ﬂﬂﬁ.ﬁwwﬂmﬁﬁ.ﬁﬁﬁm.m.l.ﬂwmﬁaﬁm
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Read the following passage nnd answer the questions 36 to 40.

Forest Policy and Impact

In her book Ecology and the Politics of Survival, Vandana Shiva (1991) argues
that tropical forest resources are undergoing the world's most severe ecological and
economic crisis. The food security of the entire world depends upon linkages between
the ecological stability and the economic well-being of the majority of the world’s people
who live in the tropics or the Third World.

Shiva explains the crisis of tropical forestry in the light of the conflicting
demands for biomass by the three fundamental economies associated with forests :

L Nature's economy of essential ecological processes.
2. The survival economy of basic needs satisfaction for people.
3. The market economy of industrial-commercial demands.

Nature's economy of essential ecological processes generates a demand on the
products of the forest in terms of the maintenance of soil systems and the hydrological
balance of the forest ecosystems. The survival economy of basic needs satisfaction
reflects the requirement of forest biomass {wood fuel, fodder, fruits, nuts, green
manure, small timber, ete.) by people living in and around forests. The market a:nnnmy'
of industrial-commercial demand converts forest biomass into items of the formal
market economy, such as pulpwood, plywood, furniture, housing timber,-wood fuel, ete.,
for the urban market. Nature's E&:Drlnmir and survival economy have always overlapped
in India. They functioned sm:ru]tn.uenusly without conflict as the survival needs of local
people were satisfied through congervation-oriented utilization,

The eolonial rule introduced dramatie breaks in usage. The former perception of
the multiple functions of a forest ecosystem was replaced with a one-dimensional
seientific forestry whose only objective was maximizing production of commercially
valuable timber. Market logging eliminated the utilization of forest resources for
ecological or economic objectives. Post-colonial forest policy further aggravated
utilization conflicts and forest degradation. The system of clear-cutting (with artificial
regeneration) was adopted. Shiva concludes that mnvertiﬂg'natum] forests to
pulpwood plantations further eroded biomass needed for fuel, fodder, fertilizers, etc.
Monoculture plantations of eucalyptus, pine, ete, severely undermined ecological
processes in mountain catchments like the Himalayas and the Western Ghats. |
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B
96, TR SATOTIAN HEE T STACT TR
(a) W U= I
(b} fere w
(g) STEHT=1 |
(d) oo ST TRV Eeh i Feam
ﬂﬂ!ﬁ:
(1) w4 (a) (2} e (b)F(c)
(3) w@a (b)F (d) (4) e (a)F(d)

According to the given |:raslsaat|gp|3+ food security depends on
(a) food production
(b) ecological stability

(e} monsoon
(d) economic welfare of the people living in tropical region

Answer Options : |
(1) Only (a) (2) Only (b) and (c}

(3) Only (b)and (d) (4) Only(a) and (d)

a7.

Frdreay SaT=IEEA W@ e i e S e wan d ?

(1) STemEdA 9 T

(2) wmEndE e e TR

(3) =T LR ELE

(4) ae snfeamdiErd T |

Which approach of a community related to forests in India, do you understand from
the given passage 7

(1) ' Conservation and use of forests

(2) Excess use of trees in the forests

(3) Forests for expansion of trade

(4) Forests only for tribal people
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i
38,  wETEAETE Wi W 7 2
(a) TS FES ARG R '
(b) SereES dad ol
(c) weERETl 3T wEwi S SR e T
(d) e affaem o=
it 79 ;
(1) =¥ (a) (2) e (d)
(3) e (a), (b) 371 (c) (4) 0= &
What are the effects of colonialism 7
{a) Forests considered only for market benefits
{(b) Conflicts generated due to forest wealth
{e) Monoculture objectives of forestry were implemented
(d) Lass of biodiversity in the forests
Answer Options : .
{1} Only (a) (2) Only (d}
(3) Only (a), (b) and (c) (4) All of the ahove
89, WG FaTaTl HEIEH] w0 w3 7

(1) vafEreT= B 9 "l STad |
(2) R Tl G S wd S : :
(3) Ay degEtdE STE e
(4) USHTE Tl gEATEEE Ha

What is the central idea of this passage 7
(1) Environmental degradation and reduction in forest wealth

(2)  Wrong environment policy and reduction in forest wealth
(3) Place of forests in Indian culture
(4) Benefits of monoculture tree plantation
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40, A FaT=mEE wieted S P wwm dam 7

{a)
(b}
(c)

(d)

FeTHEYA T S IR A G e R e,
Fagr st Fefd g gy wrEs A w14
FETERETE YT Sl TR BT SR 3T

watdt I9 :

(1)
(2)
(3)

(4)

T (a)
% (b)
W (a), (b) FA1 (c)
Fe (b), () 3o (d)

Which conclusions can be derived from the passage ?

(a)
(b)
(e)
(d)

Conservation of forests and use of forests are interdependent processes.
We should not cultivate more Pine and Nilgin trees.
Colonial poliey has caused the reduction of forests.

Market economy based on trade demand does not depend on forests.

Answer Options :

(1)
(2)
(3)
(4)

Only (a)
Only (b}
Only (a), (b) and (c)

Only (b), (¢) and (d)
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WEATE FaT AT 41 7 46 Wy T,

wreg fimam =g v |

WAL High 75g AWAT |

o WAt =g Wi |

HWIET & Weaarai ari 1116811

S g wuaE Rl wen s, wammen SreraTE SEn ST
Fresamm s, anf s wem Reom s ol wET wvEs TEOEE o
sl @M e AR Gfroed s R ol o o, e o wem
WA 38, T TR Frwrerdt o fatem wHae fied e wie W s e
?mﬁwhﬂmaﬂhﬁm.#mﬂrﬁﬁm.mﬁ,m.ﬁmmamﬁ

U W SR WA A AR W S O e e e few
STE ST S, W W WA A dEe ke S il e
e, s & SmEA e e S swean Es S S ST s B aTe.
TR G A fars asel w5 s 5l fae T Tws WS e 3
T daE wem alt weae e e, e T s e e 39
st AR’ s it we2 aven o, @ S T TeETsn WEs WS v
TEE A A S A R e sehed fam iR dseagd dmme e
o wen fawe wme. T e i sl W @ wmemen wes sEw e O
T,ﬁﬂamﬁﬂnﬂﬁﬂigﬁmtﬁmﬁmﬁﬁmmﬁrmﬁmm

J

AR T A sEedvds ot S e, T dEE s e
A ged 7 frEndt T dee e, ™ & odt st i 3 T s g A9 e i 3
FHTOIHE T . W U ST Ikl MiSAA i afes sy wmh wae
. Favdae e gaE e, s s gEnie s g, Ca
THT A=A HAE] AHAE 00 = T wr=n auaEEie s w66

o T gie oF Ay R wmee e adt & SE w0 deed § ane
F2 eAA=h 4 e AaneaTe gea 39 s e o) oiam, 29 s
WIEE Y A FO A HAEEATE T TE W S 25 usee swal, s
HOHEAEE W9 W A s wgA ufgen @ W 0 o mw wEren didqom
1 sl 4 qvA Al o feel ‘geen @1 awE ol SR e, 3 sy e,
A1 e YeaE GENE Y IR, TV HEH AN o 22 s san anf w
et ammar fiesard |
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fertera mmaTa Wl e sitreamrdt e sesem wai o ? :

(1) wEnd s Sva e An wmt e 6 wyen 3, demmi @ i e,
(2) weaETEA TaARE W gt e w0 s i wai s,
(3) fien, Wit gEeE ITE 29, S, FHIA el qE el HIUHTEA] ST

(4) TG wuia ‘Haey’ e watE Wit O 3.

il W e i svEdreh T @ it At area SrE S
LIDE] ] Afisest o

(a) To=sm () e wEEE - |

(b) eaaH (i) wh s S A9 el g wmi wHi

- HEEY TR F{H

(c) AAH (iii) tfem = s g T

(d) FrE . Gv)  Tebieha e 7e

(e) imeam (v)  TorE SRR SEe St S

Tgidt 391 :

(a) by (e} id) (e}
(1) (iv) (w) (i) (i) (i)
(2) (i) {w) (i1} (i) (iv)
(3)- i) (iv) (v} (i) (il
(4) (i) Givy (v} (i) (i)

mﬁmmiﬂnﬁﬁiﬁnmﬁmmmamﬂn%ﬂrmm?
(1) =@ m,mmﬂg@qﬂﬁmﬁmnﬁwmmwmﬁaﬂ.

(2) mﬁmmmm@ﬁmmﬁﬁmwﬁﬁﬂﬂmmﬁm
(3} iﬂﬂmﬁﬁmﬁ_maﬂ{hﬂmﬂﬁﬁmmﬁmwﬁ _
(4) mw%’mmmmﬁﬁ-ﬂﬁwﬁmﬁﬁ?ﬁﬂmﬁmﬁ

mmmﬂﬂmmﬂmﬁ; -

WﬂmﬁmﬁmﬂmmaﬁﬂmM?
(1) ammmqﬁarﬁa"rﬁﬁﬂﬁmmﬂﬁ

(2) mmmmﬁﬂﬁmﬁﬂ

(3) Wmﬂmﬁmﬁﬁ&mﬁmmmﬂ.

(4) ﬁn,ﬁn,mﬂﬁmfﬁmmﬂﬂﬁﬁﬂqm.

: e it W TR 2 |
- (2) =, Td, ', ™, T.

7 | ST, geaft,
:;; :;‘tlﬁ: 2 arg, J9Ed. (4) ==, v, A=, T, 90,

;Emm]?ﬁ w7l | SPACE FOR
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Read the following passage carefully and answer the questions 46 to 50.

Among the natural resources that can be called upon in national plans for
development, possibly the most important is human labour. Since the English language
suffers from a certain weakness in its ability to describe groups composed of both male
and female members, this is usually described as manpower. Without a productive
labour force, including effective leadership and intelligent middle management, no
amount of foreign assistance or natural wealth can ensure successful development and
modernization. The manpower for development during the next quarter century will
come from the world's present population of infants, children and adolescents. But we
are not sure that they will be equal to the task. Will they have the health, the education,
the skills, the socio-cultural attitudes essential for the responsibilities of development ?

For far too many of them the answer is no. The reason is basic. A child’s most
eritical years, with regard to physical, intellectual, social and emotional development,
are those before he reaches five years of age. During those critical, formative years he is
cared for almost exclusively by his mother, and in many parts of the world the mother
may not have the capacity to raise a superior child. She is incapable of deing so because
of her own poor health, her ignorance and her lack of status and recognition of social

and legal rights, of economic parity of independence.

One essential factor has been overlooked or ignored. The forgotten factor is the role
of women. Development will be handicapped as leng as women remain second-class
citizens, uneducated, without any voice in family or communily decisions, without legal
or economic status, married when they are still practically children, and thereafter
producing one baby after another, often only to see half of them die before they reach

school age.

We can enhance development by improving women power, by giving women the
opportunity to develop themselves, Statistics show that the average family size increase
is in inverse ratio to the mother's years of education. It is lowest among college

luates, highest among those with only primary school training or no education.
Malnutrition is most frequent in large families, and increases in frequency with each
additional sibling. -

The principle seems established that an educated mother has healthier and more

intelligent children, and that this is related to the fact that she has fewer children. The
tendency of educated, upper-class mothers to have fewer children operates even without

access to contraceptive services.

The educational level of women is significant also because it has a direct influence
upon their chances of employment, ﬂ:nd the number of employed women in a country's
total labour force has a direct bearing on both the Gross National Produet and the
disposable income of the individual family, Disposable income, especially in the hands of
women, influences food purchasing and therefore the nutritional status of the family,
The fact that this additional income derives from the paid employment of women

provides a logical i neentive to restrict the size of the family.
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B
46. From the alternatives given, select the word closest in meaning to the underlined
They are carrying out a charade of negotiations with the government.
(1) series (2) charter
{(3) absurd pretence {(4) spate
47. Choose the correct antonym from the options given.
“Termagant” ' .
(1) Charming {2} Turbulent
(3) Brawling (4) Shrewish
48, Without a productive labour force, including effective leadership and intelligent
middle management, i
{1) no productive work is possible
(2) entrepreneurs will incur heavy losses
(3) economic development will not keep pace with national movements
{4) no amount of foreign assistance or natural wealth can ensure successful
development and modernisation
49. Manpower development during the next quarter mgt_ur_-.r
(1) will be adversely affected by the threat of war
(2}. will come from the world’s present population of infants, children and
adolescents '
(3} will be well taken care of by the current emphasis of free education for women
(4) will be adversely affected by the country’s seonomic losses and political
instability
50 The writer directly or indirectly made three of the following statements. Indicate the
one he didn’t make. _ _
(1) Many of the world's present population of infants, children and udules&m?s will
not have the health, the education, the skills, the socio-cultural attitudes
essential for the responsibilities of development. :
(2) A child's most critical years with regards to physical, intellectual, social and
emotional development are those before he reaches five years of age.
() Development will be handicapped as long as women remain second-class
itizens,
tlun the advanced countries of the world, women are regarded as first-clazs
T citizens, but in developing countries they are third-rate citizens.
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51. wrmw depy, f&d), wodt 3 qewm @ AW W sient fnd gl 39 SRRl L
facrea vy ST HE SEpET 61, 65, 738 69 v and, e wd) e et

a=n FEE.
i O
3
6 G g 12
Tl
a B 12
Tl
4 11 14
(1) 19
2) 9
(3) B8 ‘

(4) T freavarad! gl wvd gEetE T

Study the accompanying Venn diagram that shows the number of studentz who
speak four languages namely; Telugu, Hindi, Marathi and Gujarati. The number of
students who speak the given languages is 61, 65, 73 and 69 respectively. Select the
number of students who speak Marathi only.

Telugu Hindi
b |
6 & 9 12
Gujarati
i1 8 12
Marathi
4 11 14
(1) 19
(2) 8
(3) B

(4) Enough data is not provided for getting the answer
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gram Fet, ww H fEr 70 ddem, RAn 105 deem anfr fime 176 #ehyE qof e, e
et et Fam g wifir figmes fedte 7

(1) 17fa 34,
20 a34fa. 304,
(3) 71fa 304,
(4) 17 g04.

Rina, Tina and Hina are starting at the same time from the same point in the san:.tE
direction to run around the circular playground. Rina completes a round in
70 seconds, Tina in 105 seconds and Hina in 175 seconds. After how much time will

they meet again at the starting point ?
(1) 17 minutes 3 seconds

(2) 34 minutes 30 seconds

(3) 71 minutes 30 seconds

(4) 17 minutes 30 seconds

SIS M FREaET w500 = g 9 fEgien weEd 9.00 Srenm digEd. HEEmE N
fedme Tt ?.mmgﬁaﬂmwﬁm,summ.m.ﬁwﬁﬂ‘r

G Sheievard Juh e H S ?
(1) TEwE! 7.36 SrEE

(2) HE 7.56 ST

(3) wEmrl B.00 Jr=al

(4) wE B.26 Fral

i in ‘N’ leaves
. oM’ leaves Meerut at 5.00 a,m. and reaches Delhi at 9.00 a.m, 'I_‘rﬂm N
Kaul-ﬂ ,::;Il 7.00 a.m. and reaches Meerut at 10.30 a.m. At what exact time do the two

traing cross each other 7
{1) 7.36 am.
(2) 7.56 a.m.
(@) 8.00 a.m.
(4) 8.26 a.m.
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G4, v v W o S S S S A I6 e T e i
uF T e we s ani gat dedie sner amed, v wara @1 wgren W S
mm.mﬁﬂmm,gﬂmmmmmﬂaﬁﬁmm_

X - o) Tt ATl 2 Hewhl A
Y : X owhrer s, 2wl e,
7 = X =fw wmdt. ot S A

(1) X =it =,
(2) Y= .
(3) Z il .
(4) iR o faum Ao A

All persons of a certain community are in a habit of answering any question in two
:aent.encﬁ and one of these is always true and other one is always false. A visitor
came across three persons of this community :.una of them is a doctor, another one is
a lawyer and third one is a farmer, Study the reply of these persons to a question
about their professions and select the true statement from the given options.

X : I am not a farmer. Z is not a farmer.
Y : X iz not a lawyer. Z is a farmer.

7. % is not a doctor. I am not a farmer.

(1) X is a doctor.
{2) Y isalawyer.

{3) Zisafarmer.
(4) None of the above statements are true

wree] THTHTA] W | SPACE FOR ROUGH WORK

http://www.adda247.com/mr | Adda247'FR'IB°prp | https://tme/Adda247Marathi


Dell
Line

https://adda247.app.link/RMd11zyyUpb

B © o483 116
55.  WE WIS FEAT qEY & Ruidl Hwa gue . weaw £ wde anf R qen sngh. =0
" g weeed s wid g8 fef ok, _
T gPaE SO ata e s o A F Aty e e, dowd § daw | Ree s
o1 e s, i, St i e @ S AR snka. i aré fofe e, wam
e S 2 FPaTE TR el aTk. SN e we Al @ f e gertt o,
T F S S A=A e qvie s v FEs

(1) T #hEe s s adie A,
(2) T SEA SO SqehE TE A
(3) TN SrEH HOT SR WIS AR,

(4) T SREA ST S g 3.

There are equal number of meén and women in a family of six. There are two fathers
and two sons. Additional information about these family members is as given below.

Ram is eldest and Nita is youngest of the family. The farmer is the father of the

writer and also of the doctor. Nita is Sameer's sister and both are t&ana.ﬁurs. Their
mother is a teacher. The only Enuplia in the family is Jayesh and Nadira, Anna is not

married and is the daughter ﬂfRﬂIl:.L-.

Select the option that deseribes the relationship between Ram and the writer.

{1) Ram is the father of the person who is the writer.

(2) Ram is the husband of the person who is the writer.

(3) Ram is the brother of the person who is the writer.

Ram is the son of the person who iz the writer.

(4)
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656, i, W, W, frn 9 fr wm gfeell adw @ wiEr vz caren SETETE S W @,
= T e, W, e, ¥ s den o R S orh . w6 T, o5, 899,
St anfin feita & wigh o g Fees. 52 e s @ Haium as Rl e,
Pry fedimmed gt duel oo o fra ke e Rl Al men spe drewen el 2w
wreren ety e fiv Tyl . Fo e g A wig deren o e fema @
it et |
g g Sneen s T P,

(1) =4
(2) 9

(3) == feRan |Tm

(4) oy qiaft =t

Daya, Maya, Saya, Jia, and Nia are hmuewivea.and their team tal:es. care of the
garden in their colony. They wanted to visit places Shela, Kota, Moha, Heta and
Vela for vacation. They choose to take these holidays in the month of March, June,
September, November and December. Following are some additional, related facts.
Jia took holiday in December but diﬁ not visit Moha or Heta, Maya went to Shela in
June. Daya went to Kota but not in March or September, Nia went for holiday in
March but as she had visited Heta, she did not go there.

Seleet the person who went on holiday in November,
(1) Daya

(2) Baya

(3) Daya or Saya

{4) Data is insufficient
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10 I1G

0@ v ge Rum RBE smE =EE (), (), (o) 3 (d) ameft ke el faue fe
. e faumm 2t faum offhie o anfn 990 faan cERe g R

e aredter et san A e
(a) TEH TRE .

(b) =T Rl B,
(c) ¥l AT IS AL
d) Fo=wE fafee o
it 3

(1) (c) 3 (a)

(2) (a) 3 (b)

(3) (d)sfn(a)

(4) (b) i (c)

Given below is the main statement that is followed by statements labelled (a), (b), (c)

and (d). Select the ordered pair of statements where the 1% statement implies 2°%
and the' two statements together are logically consistent with the main s fitanenik

You can watch a drama only if you have a ticket.
(a) You watched a drama.

(b) You had a ticket.

(¢} You did not watch a drama.

(d) Y:-uldid not have a ticket.

Answer Options :
(1) {c)and (a)

(2) (a)and (b)

(3) (d)and (a)

(4) (b)and (¢
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68, @yl UsmE femeww M, N, O, P, Q; R, S 3 T W wim sHsaig s weEhim
. UE =g e e o G el el s wes swdte, SRl
et g2 Rl ame,

(a) =TTt e s O 9 MU |y swdte.

(b) ¥igra wEEATgE M 9 T U =6 e A,

(c) OWmA R N g frae ¥t s ),

(d) M= PaEa Qd fas v wig S gtem et Fas #l wem .
=1 T wgEE P e M fae 350, @ e i we e B
it 39 ;

(1) U1 =SEA 9IS SRl HET.

(2) N I7 9= H5ET N,

(3) Q = S TR AL

(4) ST YE FEE T

Two teams are to be compiled from health workers M, N, O, P, Q, R, § and T selected
-from all over the State for executing health related programmes. Each worker will be
in either of the teams and one of the teams can accommodate at the most five or at
least four workers. Given below is some more information about the workers.

{a) Being best friends (0 and M would be in the same team.
(b) Being rivals M and T will not be in the same team, -
{¢) R and N will not be selected along with O.

(d) Q will be selected with M and P but not with 5.

If P and M are selected for a team, then select the true statement from e
options.

Answer Options :
(1) One of the teams has five persons.

(2) N is the member of this team.

(3) Qisinthe other team.
(4) 8 is not the member of this team.
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59, i yedtaEE 1950 — 2010 3wkt sl snamw s o, s Y g

facieh amg, .
T wrte | i 2 | T 7 | o 2
«2gth and 21 Century Literature’ | 1950 — 2020 | 378 AT T 450
The Mlustrated Guide to Literature| 1900 — 2020 | 7T TR T 500
Beginners' Guide to Literature 1850 — 2010 T8l Tl T 400
Literature For All 1850 — 2000 | &8 SR T 550
All About Literature 1800 - 2020 | SR e T 600 |

ge=n feasft waen v wal e gew w s @ e d6s 9 g
Treft. 3% od yerw 20% 2 it 2T Refl gE BR. TR fR SEe areeed Sy wacE

S9ErTE Haia e e dee,
RS e T FEE.

(1) ¥ 90 (2) ¥ 50
(3) T 10 (4} ¥ 130

Aisha is studying literature of the period 1850 — 2010 for her padunﬁ_un. She
decided to buy a book to help her with studies, Information about 5 different related

hooks which are available at the local shop is given below.

Title ;‘;;ﬂﬂi Hardback 7 | IMustrated ? | Price ?
‘208 and 21 Century 1950 — 2020 Ves Neo - | = 450
Literature’
The Iustrated Guide to | 1945 _ 9020 Ne ' Yes T 500
Literature _ : |
Beginners' Guide to 1850 — 2010 No No £ 400
Literature : =
Literature For All 1850 = 2000 Yes Yes
All About Literature 1800 — 2020 Yes No T 600

Next day she went to the shop with exact cash required for buying the cheapest book

: i here was a sale and the price of all
i her requirement. She found that t

E:i}'::&ﬁ reduced by 20%. So she purchased the most costly book that she could buy
with the money she had and that fulfils her requirements.

t that is left over with Aisha.

Select the amoun
1) =90 (2) ¥ 50
@ F 10 (4) = 130
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60. Wiz = fagew ffaw i wewd ww fem 48 Wt frew dfeden wede W
36 Faremeatt firsm wien wioa eae, woT qam wivered AR d9 s g g
T e e R wlR w wE aEa,

aifter mifdte Hewia we Tt e Faern

(1) 1 e e 12 gE e e

(2) T T AT U W den W 49 HEE, mo wmede ge e
ﬁfﬁmﬁaaﬁmmmm_

(3) = WTET 14 g A,

(4) Sfta W waced TEN WEE e W 51 s, mmmﬂ?ﬁaaﬂﬂim
frfraaat 13 e,

All 36 pupils of the Zilla Parishad School plant'ed in all 48 plants, a mixture of
jambhul and chiku varieties, in their locality. Every boy planted three jambhul
varieties and the each group of two girls planted one chiku variety between them.

Salect the statement that is not true with respect to the above information.

(1} There are 12 more girls than boys in this achool,
If the total number of plants planted is 49, then the number of girls in this

(2) - of
achool is definitely 14, with respect to the above case.

{3) There are 14 boys in this s-nhn-ul
If the total number of plants planted is 51, then the- m:.mi:rer of boys in this

(4)
gchool is dEﬂlllt-l‘.']j" 13, with respect to the above case.

:ﬂ35?=25uméﬁﬁ3mh5%mm,maﬁﬁmﬁmm.m i

61. :
faae, _
(1) 0,4 {2) 5,4
(3) 5.6 4y 0,6

If the number q57+25+ is divisible by both 3 and 5, then select the appropriate pair
digits in units and thousandth place respectively.
(2) 5,4

1) 0,4
N 4) 0,6

3 65,86
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wel-ufam fae
&
Lo
L 7 2
(1) > (2) "‘ [ (3) Vo (4) ]

Study the accompanying piece of transparent paper. Select the fold image if it is
folded to get triangle.

‘”ﬁ “’ﬁ 0
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63. =duaE wE e e, “EReT=n wear f s i, e e S
anfn s feaufaTs g aEE ET AT R SR FERe= 3
mwﬁﬂawamﬁmwmﬁmmmw.wﬁﬂwﬁw
Frere RS S Fin 2w T AT SEe e A S S AT
@ Hef ST fla ank sl AR W AR S SR e
WA AT 3T R Foerd Frem 1.

(2) W GRS WO favden omme afEn wwrd s sEe, @O de §
o= ufits ARETEE deiqan wEE e T aen TS AEH .

(3) Wwﬂmmﬁrﬁmﬁﬂﬂuﬁmmﬁmwmm&a
e
(4) I WATSA] A AT e AT S-S ST A H T8,

During the discussion one speaker said, “As claimed by some researchers, it is not
reasonable to attribute complex reasoning ability to reptiles on the basis of simple
stimulus-response explanations of some reptiles’ behaviours like searching prey,
caring for their eggs and engaging in various other life processes. But since, as
observed during experiments, reptiles are not capable of making chanpges in their
behaviour when they are made to face major changes in their surroundings, this
leads one to conclude that reptiles are not capable of complex reasoning.”

Which one of the following is an assumption required by the speaker’s conclusion ?

(1) In comparison with their behaviour in laboratory experiments, reptiles'
behaviour appears to be more complex in their natural environment.

(2) If reptiles were capable of complex reasoning, then they would exhibit
eapability of altering their behaviour as per the changes in their natural
habitat.

(3) Complex r:e&suning and responses to stimuli cannot both contribute to the same
hehaviour,

(4) All reptiles’ behaviour can be explained on the basis of simple
gtimulus-responses,

e TATeTd o | SPAGE FOR ROUGH WORK

http://www.adda247.com/mr | Adda247'FR'IB°prp | https://tme/Adda247Marathi


Dell
Line

https://adda247.app.link/RMd11zyyUpb

B 51 ; 16

sraeen giwar, fRaer,

wmﬂwmﬁmmmwﬁm ﬁmﬂﬁma’rmgaﬁawm

Siren W fieTen g, iy sl IeEAren anftadt svaren qeEare #E3 @ i

et Eret sraw T ave, A1 i ST T T 9 e

e, T S vt e SR $EAe s @Es wel.

(1) e e wwaren R ST s ghE S SR S, e g
farefl 3w 00T ST ElG SEeATe AEIET S0 T T,

(2) T e omm W oawd fewmE GRS e meva T wEE. SO
formméiirer = avaT A T Fed, A e dudid ST A e

(3) wewin dFardn fimn # 39 IwE e an weemdA i oo wwe fafea w3
d% wirawarardl gl @2 e Eea @i gieerEn I AT A,

(4) TtaEa 4w R wEwl Seeea e fiaen YT ofE. WERN Shen =9 AER
Fa = T =t it meE 45w o oA e F frem Ay wE
Fa v T .

Study the following argument and then choose from the options given, the argument

that most closely parallels the reasoning of it.

The farmer's family had an option of planting gram or soyabeans. Last year gram

received a better market price as compared to soyabeans. But in order to ensure high

yields, quality organic fertilisers and eco-friendly pest controlling inputs are
required for gram. Since they could not get credit required for this additional care, in
spite of the crop being likely to earn less profit, the family planted soyabeans.

(1} In order to go on excursion for collecting field data, the learners need to raise
enough money, It is impossible for them to raise the sufficient funds, therefore
they are unlikely to go on excursion.

(2) For securing promotion, one needs to meet sales targets if one is working as the
salesperson. If one is successful in meeting the last quarter’s target, then one
can hope to get a promotion. :

(3) It ie possible for tourists to exchange currency through bank or for poorer
exchange rate, they ean uge the hotel where they stay. There was not sufficient
time for finding a bank so they had to use the hotel for exchange.

(4) It is possible to get the loan from a nationalised bank or & co-operative bank.
Since a co-operative bank has higher customer serviee rating, a person decides
to apply for loan in a co-operative bank as she iz sure of getting the loan easily,

e
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65. HITEH W wreAm e St A TR AR A § A W
Fr e SR IRer o wrden AP el . men, Sersn veEE
. g EEE W wikarsn S e e Fe S Al e aen Bl
T N SR WE TeE A areear, S @ O S A
TS SR AR g Wi asavaT] i T Faee S Wigd I9sd B
FoE T avT TR W TeRd. W MW R SRR werfan e Al wme
“THEEE AT TS S B HH A S S .
Tite TR AT HEEAE] TESRRE AT A 5 A i s wEh
afam wwm faan.
(1) =i S FEEET B 7 e T e sfiean weed e 269 9
# varen =1 fen T wee (performance) F9AE WEH F,
(2) TIE=N SEEER I1E T AT RS, SHE W SO S ST e
(3) TN A I TG A ae e A Eefh g s,
(4) TETE TAETERS SEEATE A W s S SeEET 39 WHE 918 1.
Scientists at the Berlin's Institute of Pharmacy have recommended that
Ecdysterone, a hormone found in spinach, be included in the list of prohibited
substances for athletes. Scientists conducted a study for testing their hypothesis,

‘there would be an increase in performance of athletes.” They found, ‘significantly
higher increase in muscle mass observed in those participants who were dosed with

Ecdysterone.' _

Popeye was definitely into something when be ripped open cans of spinach before

beating the bad guys for his beloved Olive. Now, scientists in Germany say that the

cartoon character may wall have been “ﬂﬂp‘fngh to got his superhuman streugth

Select the most of appropriate reason for recommending prohibition on the use of

Ecdysterone for athletes.

(1) Higher increase in musele mass gives a person superhuman strength that helps
him or her to give the best performance. -+

(2) Eecdysterone, as it increases muscle mass, serves as a dope and any kind of
doping is banned for athletes. ]

(3) Higher increase in muscle power causes adverse effects on athlete's health..

(4) Spinach eating causes increase in muscle mass of the person due to
Ecdysterone present in it .

66, mr=fren 28 Tgar, 2018 Tt T wren. w0 fredn 2250 A Ravh ww aw adw 0

(1) HITEER (2) HHER (3) HuEw (4) AR

Sanvi was born on 28" February, 2018, Then on which day will her 22™ birthday
come ? ' .

(1) Tuesday (2) Monday (3) Wednesday (4) Friday
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67. A o B ww wm agwa 16 snfin 10 R ol wwm, e wer wm s geam
¥+, wig 9 fawiEm B @ W SR avm o IwEs wm oA S ol W R e feh

femamed i wet ? ;
(1) sf== (2) 10 fe=m
(3) 12 fe=w (4) 165 feam

A and B can complete a work in 15 days and 10 days respectively. They started doing
the work together, but after 2 days B had to leave and A alone completed the
remaining work. In how many days was the work completed ? '

(1} Bdays (2) 10 days
(3) 12 days ' (4) 15 days

68. feoeh faum @ e srgart anan, e Ryt s 9 s fae w0
(a) =4 T T TAEE TN ST A TEE S,
(b) wwah= e ottt Frewd Toc, Sredt G, sga g aemeie s,
(¢) wea St it gy Teeite o,
T T .
(1) T gt adhiaam swar STaerea) s o] BT s s,
(2) vaTeaw faemdl T= ST ARt AT WEfE R .
(3) weardt faanefl wafere it S
(4) afetd v

Study the statements given below and select the correct conelusion based on these,
that follow : ' ; z

(a) All mathematicians exhibit an ability to do high level logieal thinking.

(b} Belf-learning students, who are not the product of traditional school system,
are usually found to be highly creative. 0

e} Only some of the mathematicians are highly creative.
Answer Options :

(1) Persons with high level logical thinking ability are likely to become
mathematicians,

(2) Belf-learning students don't exhibit high level logieal thinking ability.
(3) Self-learning students seldom become mathematicians.
(4} None of the above
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69. W= wywie favwid v s e f g s wii o e e

(1) L] 2) o

s o
=]
3 | * 4) |- ®
ol -

Find the dot design of accompanying tiles and select the appropriate part of it from
the given options. ' |

Answer options :

1
(1) .!u (2)
(3) B (4) E
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70, T gfrar wigEE T o Reen e aferedte 52 Pl wem welE e
(ECIEREC

S T T I R weve 7w F4B FeavrE T Felge e
. = e R e e wen fem 3 nfer wae et s
16% wzelt, weis wen amer T ) e amE e sfte wes wEe g,

wite giwamEe 38 gram 2o sl vai Feen

(1) w1 Ifrare s sEEES SEEAETA TEal,
(2) == gee Al =R v e A aidd s,

(3) faalta ofiftiwien dtz 2or=m emaffaes s srEEa Aol

(4) TT9 IFETEE NRT SE HE ol 2l

Read the following argument and select the best statement that points out the flaw
in the argument from given options,

Many people think that welfare benefits create a culture of dependency and an
unproductive workforce. Many people solely depend on welfare benefits without
making any efforts to earn their living. Few years back the government introduced
tough eligibility rules for getting welfare benefits and the number of recipients has
now fallen by 15%. The government should therefore tighten eligibility rules to -
further reduce the number of welfare beneficiaries.

Select the statement that points out the flaw in the argument from the given
options.

(1) It equates beneficiaries wiI:.h unpreductive workforee.

(2) It implies that beneficiaries are responsible for their situation.

{3) It fails to empathise with beneficiaries facing adversities.

(4) It gives the impression that the benefits are unnecessary.
wewy) NS S | SPACE FOR ROUGH WORK P.T.O.
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71,  w fiedme 3 g, 2 AS 7 5w g e W Ao a FRETRE 198 W
_m,mmﬁmﬁimﬁ.ﬂﬁwmﬁm?

3

10

1
(4) 3

(1) (2)

(3)

el |

A bag contains 3 white, 2 blue and 5 red balls. One ball is drawn at random from the
bag. What is the probability that the ball drawn is not red 7

4 3
W = @ ==
1 1
@ £ : C

72,  wiwdt sremEn snin fren dewin FiTET aen s faem fasn

C #§ suEA F, D anf G =1 Sawdien gimen suet sk, C anfr A 71 Tawd! E=m q@e
FHETn A o B & 9uwa C it A =0 uivaden Sweiel WE. A i B W Fhd cm
THIEAT=AT SETet SHeegl HATEA.

(1) B¥ a6 E 1 SEmEd= e swee .
(2) G wETed A F@TEre SRR Saae k.
(3) G FETEA B A FHEHCA JAlE T AR
(4) E sawa DI aamEdren 2fken awere .

Study the information and select the definitely true statement with respect to it.

Colony C is located to the south of colonies F, I and G. Colonies C and A are located
to the east of E and colony B is located to the west of colonies C and A. Colonies A
and B are located to the south of C.

{1) Colony B is located to the east of colony E.
(2) Colony (i is located to the west of colony A.
(3) Colony G is located to the north of colony B,

(4) Colony E is located to the south of colony D.
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78, WEHl 25 Tl IR 5 W RARE 5 AW ALE G WD FA . Me wEA WA
Bl Wi e wn TeemErEl Stacen S S 2 T gl gefa wee
TR FeihT E e Fent 3 5 fren R,

(1) 13 (2) 12

(3) 8 B (4) =lietsh v Tkt

5 children are collecting flowers in the garden for making 5 garlands using
25 flowers each. They decided that at the end of the collecting time, they are going to
ensure that they all have equal number of flowers. Four of them are only 2 short of
making their garland as was decided and the youngest child was not able to collect
the required number of flowers. So each of the others gave 3 flowers from their
collection in order to equalise the number of flowers.

Choose the option that indicates the number of flowers that the youngest child had

collected.
(1) 13 {2) 12
{(3) B {4} None of the above

4.  wrEiE W weE X o 8 a9 13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14, 15, 16, 16,
14. 9 8 Tl 18 ¥ e Uwell, 0 oMy wer v e, w0 s o ai Sie B o

(1} 30 : (2) 27
{3) 28 {4) 29

Let X’ be the median of the data 13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14, 15, 16, 15, 14.
If 8 is replaced by 18, then median of the data is *Y", What is the sum of values of X'

and Y ?
(1) 30 ' (2) 27
(3) 28 (4) 29
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76. TR Rdem sfiead ey st s we steen, T 2 TEEE S0
apvare, AT o e fesien arfirrdig v faw amp TS,

napu pelkeui = The girl is coming from the hut.

napu tipkeu = The dog is going to the hut,

lam mirkeui = The farmer is walking from the field.

dowl pelkeu = The girl is running to the meadow.

“The dog is walking to the meadow” 2 I WA = FHaomn 5404 ==l

(1)
(2)
(3)
(4}

dowl tipkeu
dowl] tipkeui
dow] mirkeu

napu mirkeu

Study the following expressions and recognise structure of the unfamiliar language.
Use two assumptions that : there are no exceptions to the rule, and only those rules
apply which may be derived from the given expressions. '

napu pelkeui = The girl is coming from the hut.
napu tipkeu = The dog is going to the hut,
lam mirkeui = The farmer is walking from the field.

dowl] pelkeu = The girl is running to the meadow.

Select the option that expresses “The dog is ilrn]khig to the meadow” in this
language.

(1}
(2)
(3)
(4)

dow] tipkeu
dow] tipkeui
dowl mirkeu

napu mirkeu
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Decision making and problem solving questions no. 76 - 80,

6. TH e wwitEmeened) e e afe a9 . qeen st
ST W SO SRS U TR U A AR, 3 g ots 4@ty T
wmifas wfisemen iz 20 go wifinla s onim. S swem @mTEE dErem
fainama st 0 Wi wews uW @ T Fieie wEdm T s A wrdete sitan
sk, i a4 Prawigen s @ s gifEsfdea fe s see aeah
FIwrE Wl ST W T e 9 e w wifiede @ e adi
wren 3fea S g e 2 ;

(1) TR F=aviaren SRfHeE s diwia = T W B AvEren S S,
TS A1 EEN I e GEA HA SEe AE W TEEn g wees 3 v wn
T el A AT gt vea e A we e

(2) wefim wen goeEm sfes W oug T o s e arEhEy S
ﬁﬁ w TETEAT TG I,

(3) 3= ST 0 i w8 T e adh e,
AMeR T FEAIATIR S s SR Sl qeern aRen g A § e
TIE R,

(4) =TI TSl SAfR=aTHE, AYTRR 3 Svile ot A o wreratE mei
AffewrreT TeEs 3 SEEEH W EEEE wEiun S ffeew e, feed
wmzmﬁ:MWnﬁmﬁ%mmﬁﬁﬁfﬁmmﬁ

e :
You are a senior government servant known for your integrity. You are approached
by a group of activists who are working for social justice for the people who are
considered low caste by other groups, in most of the villages in your district that is
under your jurisdiction. Many Buddhist families from these villages are facing social
boyeott and are living in miserable conditions, Activistz want you to support the
movement and actively participate init as you are against social stratification of any

!e:md_ _l!]jwemment Conduet Rules prohibit government servants from participating

in activity related to eriticizing government for the condition of these people. In this

situation, what appropriate course of action would yvou choose from the following list
of options ?

(1) ¥You know that large number of people are denied justice due to hegemony of

go-called high caste people, therefore you assure this i
1 zaple, group full support an

guide them to plan activities for long- s i

i indgt sy i ong-term change related to this issue, though

(2) Discourage the group from doing any activity related to the problem of social
Justice as this will aggravate the problem of the concerned people.

(@) Explain to the Eroup that you cannot participate in any kind of such activity as
E-Iunducl. Rules prohihit Lf""u to do this and you are aware of the fact that even
highly ed uj:&ll.*d people don't have any empathy towards these people.

i(4) ME}II‘E this group thailf you will give them full moral support and needed
assistance without getting involved personally in the programme to aveid any
k!nd of violence related to this issue as go-ealled high caste people including
high level government officials Bupport social boyeott against these people.
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7.

a0 B

T St gEanie s anfr e defefn sl T wE L
e i s, T S A wen onfin wea srEERE S STE g S

e iR s S A SR R, gl e S TR ST TEE gh

s e S WA e avR, TRl TS TN ) HEEY STECU A ST
gt A e s T anfr wE T e SHIE FeTe i e A e
& k. g _

(1) S e S S S e e A fagm wam
T wEEE Lo ImiERE e gEa.

(2) = T A R g AR R F0,

(3) mmhwﬂ%mﬁﬁﬂmm%wmﬂﬁmﬁm
UE FHEET SOl M ATTAE . .

(@) 3P T S W wE sEae i At B e s )

You are from a farmer's family and working as the Government Agriculture Officer.
The Agriculture Minister ordered you to organize lectures for farmers by his friend
who is self-proclaimed organic farming expert and celebrity. The Minister also
expects you to make VIP facilities available to him. You, as an experienced member

of your family, are sure that his methods are not tested séientifically and do not give
the yields elaimed by him. You will

(1) suggest the name of the scientist who assists farmers tg experiment with
scientific data available on internet for guiding farmers, '

(2) explain to the Minister that this person is a fraud,

(3) organize lectures of the celebrity as you know how difficult it is to convince the
Minigter that his friend is a fraud. '

(4) suggest the name of the scientist who is working with farmers for many years

and has designed methods of using organic fertilizerg fo; iur_ﬁui & vield. using

geientific data for guiding farmers. S
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= wfi 20 wrd m o wfrE wAE fEE T e e A e e e

o (c B = B e e G e e e G R T

GME R w0 s s, 'mue A wmm wren Ser e ged

SRS B G, g fafaw st gerd deem dem We @i §E gre;m

TSN ] B HIE S G SESE, w6 Fased) Sadre gHaEd wia I

s W g S A Ad A wa e g He oW @

(1) wEn Feva TR i gEET e ST o ;
mmﬁﬂwmmmmmmmm
wivgera Wit ferfioarh fareft =,

(2) WA TN W WEE W wf an W e geen Rigomde S
Fre e i e s Rranealaier mearh s e

(@) WengE W TEE Wl GENTTR ONMEiTE  Sew TawEEl e e
srezATedien srerm YiE AFEEH AETETET MERER SV TEUEEE WEE et
T Wi . ;

(4) Forfimm amenfies SRR TwT= S S gEaeagEn e @ s
WEEd FEET W wea SvareEl wEmETy amenfre sk sanere i

Rl

Every year 20t March is celebrated as Happiness Day. As the headmistress, you
want to organize celebration of Happiness Day in school to make teachers and
learners aware of process of living happily. You have called a parents-teachers
meeting to get ideas ahout celebration of Happiness Day. You also talked to children
of different elasses and found that adults as well as children have the same ideas
about ‘happiness’. You alse talked to the devotees standing in queue for ‘darshan’ of
deities of their choice and you found that they also pray for something that can be
purchased with hefty amount, You will
(1) allow teachers and learners to do whatever they enjoy deing at school as
suggested by majority of persons attending the meeting and request each one to
write in brief an account of some instances of happy life that they have
experienced.

(2} ecall some people whom you have observed living happily while doing their work
and leading a simple life and request them to share their happy' experiences
with students.

(3) organize teachers and parents sessions for constructing collaborative ideas
about ‘happiness’ and for assisting teachers to design learning experiences that
make the learning process enjoyable to each learner.

(4) organize lecture of a celebrated spiritual personality to make students and
teachers aware about eternal happiness as suggested by few persons who
attend spiritual lectures regularly.
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79, aufiifd S T o i e e s, T e T A @ s
AT S TR A e A fireon @ i Sl one. geen
mﬂammmﬂa@%mﬂmmmﬁmmwmm
T et ot g s,

(1) T o s i me ames s afeR g T e
Ul TETS FTET 9 S,

(2) AFER Wieied) s geen afuren aftwin weE woamEE i e a6,

(3) Wi T fireng § FA o S S T veem g i

(4) wERE sfrwrare: o diftddus 3@ aer oEe o,

You are heading a research team in a biotechnical company. You have mooted the
proposal for some special hands-on training in a renownéd foreign laboratory. In an
order passed by your immediate supervisory head, three of your team members have
been recommended for this training. You suspect that it is deliberate on part of your

boss with whom you had differences of opinion with respect to another project. ﬁs
first point of action you would

(1) use your n:m:lia contaets, social media and pressurise }ruﬁ: boss to recommend
your name for the training,

(2) . seek nudmnce from your boss's superiors and make them aware of injustice
done to you.

(3) epeak to your boss for knowing the reason for not recommending your name for

training and explain your point for recommending you for the training if
MECcessary, e

(4)  eubmit a written complaint to the concerned authorities about this matter
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63 I16

T T w0 wgm e, et wfEeaE w0 sl andie secem it
FE e T e FEEEr oNE. § Ot Seiten e WA, e seveeE
wrea e Gamigan & @9 39 98 9 o Paw afeaemsg T e s, g g
mmmmmmﬁmmﬁémﬁﬁmﬁﬁﬁﬁ#ﬁﬂﬁ.
mmﬁnﬁmﬁiﬁmmmﬂﬂﬁmﬂmﬂmmm
w T s BT afraeres el e, abEed Gawe 9 gags fah e S
¥ anftn e Frmien smot SEEmn WA Eee e dee wen W i s e
At T el o e FE=en fge wfren fiesan g, Tl gesaEt TEE e
s st geeren folt o et amg. T :
(1) Wmmﬁmmﬁmmmmmmﬁm
°re.
(2) TRETEHTE SANTEE] ST SSRGS e e 9 g a
T AT e Al ue.
(3) fid 3 3 Anadwd gerElE w9 AV At weea s Ruifa P
TISHHITIN Tt Hocae afwarearen Rt gews =,
(4) = i o e fammm 7 S Fofamadsh ofes des =t T
T T AT w.

You are the head of a certain office. The office secretariat is in the charge of allotting
limited number of houses reserved for the office staff and these houses are near the
office. Allotment is done as per the rules laid down by the higher authority of the
organization and these rules are published by the secretariat. Your dizstant relative
works in this office as your senior assistant. She pleaded to the secretariat that she
ghould be given priority in house allotment as she has to take eare of her ailing
in-laws. Another junior staff member also requested to the seeretariat to allot house
as he has to take care of his ailing wife. The secretariat turned down her request by
pointing out the rules and on the basis of these rules the junior staff member has
been allotted the house considering the nature of his duties. Now your relative is
pressing you to help her to get house that is allotted to the junior staff member and
¥ou want to avaid her annoyance, You will,

(1) order the secretariat to hold the allotment orders and delay the declaration of
allotment as far as possible.

(2) order the secretariat to allot the houses without considering any request
related to pergonal problems like ailment of relatives,

(3) agree with the secretariat’s note as they have strictly followed the rules sot up
by the authorities though that might strain your relations with her and other
relatives,

\4)  request the secretariat to explain the rationale of the decision made about not

l_:n:?aid.r.*rjng her request, in your presence for avoiding misunderstanding e
irritalion of your relative,
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AT — (q= 1w ...

(8) wemfEdd fafte e e arle = e (06 96) e, wfeeeatiien swetEe m
FTEET S I e 3 T ST W e 3, 3 WEE Wia ¥ SEn SHEETiat e
=M Feem “whaire goren S Sy s wiitae-82" aim TR e
oA A 3 ordt = wOTe U Seem s i T o een vedem gErem fin
o EE.

(9 R WEIEEE s i el A9 S TeEmen #@ FEyas M T

UFA WA WA SR, SR UiSTERETETEY CWIOTOdl SHEOTOd SIOedl SENrEel Wh-1
AmAaETE: 1 e o T arrEw AT

o ell "I
W F. 201, TS W T s wel ge wae e o :
(1) v=Eri Taee s (2) dravag faamrm
(3) T TR (4)  TiTSEE T

T OWET g e () T TeeiEs O aE e, s w v am )" e, awea
T ¥R %, 201 whEilE swmewaw @) § ofs o omife e arafm
HIEFER WE,

wwmzu. @O @ @ @

m%w%ﬁmmﬁmﬁmwmﬁaﬂmmﬁﬁw
FawhEEalEa w A TeETEe wefe ade qiel owifer we ereEEr, gt
U WY YIS wTe e, S o v 99 e i,
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